Unit 11: Acids and Bases Chapters 14-15
Properties:
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Examples:
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	Bases
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Naming:

Binary acid: contains H and ________________________

-Name begins with ________

-Root of name of second element follows

-Name ends with suffix _______

Oxyacid: composed of H, O, and ___________________ 

	Name of oxyacid
	Name of oxyanion

	Prefix
	Suffix
	Prefix
	Suffix

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


Naming bases:

Most bases are ionic compounds, use your _______ ___________

pH

Acids and bases are classified by the quantity/ presence of _________________ or __________________________ in an aqueous solution

These ions were chosen because when water _____________ (self-ionizes) it forms H3O+ and OH-
H2O  ↔ H3O+ + OH-
Taking this a step further, we can determine whether something is an _________, __________, or _____________ by looking at the concentration of the ions in solution

We can calculate the ____ concentrations based on the_____________ _____________ of water, Kw


Kw   =           [H3O+]
    x 
    [OH-]





(1.0x10-7 mol/L) x (1.0x10-7 mol/L) = 1.0 x 10-14 (mol/L)2
The Kw  equation and the concentrations of the ions are the basis for calculating _____ and the ___  ________

In any ___________ solution, [H+] and [OH-] are _________________. This means that as one __________, the other will ___________. 

A simpler way to express [H+] is _____






pH = -log[H+]

To calculate pH easily, any given concentration should be converted to scientific notation. 

Ex. 0.001M = 1.0 x 10-3 mol/L  (This allows you to plug into the pH equation)

We can also express the [OH-] similarly as_____



pOH = -log[OH-]

pH and pOH are ______________, just like the ions; as one increases, the other will decrease.

The pH scale is based on the ____ for water, _______________

-log[H+] + -log[OH-] = _____


–log(1.0x10-7 mol/L) + -log(1.0x10-7 mol/L) = 14

pH + pOH = 14

So, in a __________ solution like pure water:  [H+] = [OH-]  







(1.0x10-7 mol/L) = (1.0x10-7 mol/L)







pH = pOH     = 7.0

An _________solution: pH is less than 7.0




pOH is greater than 7.0




[H+] is greater than 1.0 x 10-7 mol/L

A __________ solution: pH is greater than 7.0




pOH is less than 7.0




[H+] is less than 1.0 x 10-7 mol/L

Acid




    Neutral




  Base
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It is possible to have a pH above ____ or below______, but these tend to be concentrated acids or bases that have been created in a lab. All __________ things fall into the scale of 0-14.






